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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
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A.M. between 2\[5 and 6\/§ J

/;J‘; e (/'U’ B u‘lil/C/&GfJJﬂ:Ju!d/A /Cét’r‘ 2

The percenta%e of profit / mark up

Principal Interest Time Rate charged is cal
y&:&? u&.g}bt‘ 1 )Ll'!, b .Zp,’?#i//?d/uf//@;Jﬂu/ 3
Real part Rational Mantissa Characteristic | I the logarithm of a number the decimal
number part is called :
4
n n
bl best Ly ' 1 /‘«_LMH h 1
g 22l Lot 3 o= ¥ =
Arithmetic Harmonic Mod Maai % -
mean mean oue . u d
1s called :

A3

‘;"“LL f“{‘é C’V Uj)f \ u’é'i/—-—-a,lc.t/’/; Fu’.ﬁ/ﬁ“ 6@!/@7

The amount which is paid by the bank on

Mark-up Premium Profit Bonus [ he deposits is called —----
0 0 0 0 A4 %/Jd’fh{//y(j{&w/gf-—d'ﬂ(jfu 6
2% 2.5% 10% % On a.crop produced on artificial -

resources, ushr is deducted at the rate of :

: AmB:?;u:’Zb‘{J?» B A fl 7

Bn A AN B Bu A ¢ If A _an‘d B are two non-empty overlapping
A sets, then 4N B =7
é‘ :
200 20 120 ,;.n;gh” 20% of 600 is : s 20 €600 8
64 557 s e | wfih P s e Qb A g e |
Z o . The person or entity whose insurance is
Les R Insured Draweg, - F- - lnsureg? being done is called the -----:
P . i T TR e AR TN a” s 10
S5 | e o T G | eE s dab e d
_ . i In a proportion a:b:c:d “a” and “d” are
Consequent Antecedent | - }Wmsw Extreme called :
L Ldb‘dﬁ&ﬁ)g{d:zgm{c‘.wu&d»fi (‘/ os | 11
uai_fjfl uasyﬁ‘}{j/_: d{‘?/lUﬁ S 2gdlkf;}c‘:,dlg&;l;’/&/p{.ahﬁmjLbi
Ineoiie tax Property tax Excise duty Tax Money that must be paid to the state charged

as proportion of income and profit added to
cost of some goods and services is called :

x=2e, y=20t 2x—y=6 |12

-2 4 -4 2 :
Fory=2 in 2x—y=6,wehavex=7 :
) . 13
/Af] J,@é" /ij JL/’ 3 % . & - 3 y
Radical Integer Radicand Base 7 iwealleg | ) u.’?qf}/ 737
ki & k! b,
5.5% 4.5% 3.5% 2.5% PRI N ATACT R
Zakat is deducted at the rate of :
V1 ~247 +242 242 R R A S R

G.M. between 1 and 8 is :
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: (PART 1 Uil ) AF

& epiz A L 2ty (6)4"’::.45’( 2
AP TS T 56% ()
S e tA 125 i)
Rs24 , Rs.6 &P et fulT (D

(iv) Express E%g in its lowest form. ~£’£JJ¢ LTy %% Gv)

wB 5=k L2160 = 2hlln L s el (V)

12 2. Write short answers to any SIX (6) questions :
(1) Express 56% as fraction in its lowest form.

(i) Express 1.25 as percentage.

(ii1) Find the ratio in its lowest form :

(V) Find the SP, when MP = Rs.2760 , Discount = 5%
33%% =001, 100 =zdsped Loy ied (VD)

(vi) Find CP, when SP = Rs.100 ,profit = 33%%
w84 =0 :%5/2400 =¢>;/»‘ug~§2’_{r}b’ c;q’.:o}@u (viD)
(vii) Find the marked price when SP = Rs.2400 , Discount = 4%
w8 3= Cf « 92480 =¢/&{f2§r}"”o>3/:a{’, (viii)

(viii) Find the SP when CP =Rs.480 , Profit =3%
e U 12% L L Lige s 54000 ()

(ix) Find the profit on Rs.54000 for one year at 12% per annum.
12 3. Write short answers to any SIX (6) questions : 2l e AL iy (6){:.8{ 3
e 1003,50,000 G Sp g g~ @)
(1) Calculate Ushr on a wheat crop amounting to Rs.3,50,000 produced by artificial resources.
ot 52 AN L N B S v LI V1 0 U 300 400,000 L (D

(i1) Najeeb left a wealth amounting to Rs.4,00,000. He left behind -Ef_{ ()‘” okl
a widow, while they do not have any child. Find the share of Najeeb’s widow.

Calculate Zakat on gold amounting ..é(}" d JS??{,L%L@JL&,UIS,OO,OOO (ii1)
to Rs. 15,00,000, '

(S OSER T ) BB K 20 fE16% g Sl 1e 04000 =d SELIIL (V)

(iv) The price of a tricycle is Rs.4000. If 16% sales tax is charged, then calculate the

amount of sales tax.

e LA A STV 491 200 1 b/ 6 6 U zalle (V)
(V) Khalid works 6 day-week. Find his gross monthly wage, if his rate of pay is Rs.200 per day.

(iiD)

(v1) Simplify : J2+%m LA (v
b i e g bzt A (vid)

(vi)) Simplify and express with positive indices :
2

()

(viil) Write in scientific notation : 2566324 ’&guﬁ(f)‘u”/ ¢ (viid)
VA 6]

(ix) Evaluate : log 200 + log5
12 4. Write short answers to any SIX (6) questions : 2 ez A7 L ey (6)4’:.&:( 4

(i) Represent the point on the graph paper: F(-3,7) =y /:UJWJJ )
( ZJ.JJJJ )




2) mg-q,-
8,9,3,6,5,10,8 > ey (D) -4

4. (i1) Find mode for data :
i }’”A/M;v (iii)

(ii1) Find mean for data : 10,8,9,3,6.5,8

(iv) Find next four terms 12, 16, 21, 27 ---- & p’ubuKIZ 16, 21 27 === (V)
(v) Find jhe terms indigated : 1,3, 12,60 - a é(:"’rhu{fd»u W)
(vi) Find A.M. betweenx -1 and x + 7 -’c_“:}':""»;!d‘?uyuﬁ x+74 x—1 (vD

i b5 412,36 - A (vid)
(vil) Find 5" term ofa G.P. 4, - 12, 36 -------

by

. 2,1 41 Si (viid

(viii) If A={-2,1,4} then write two binar

(ix) Represent the point A (2, -4 ) on the graph _§ ‘ LA (2,-4) & (ix)

(PART -1 N )
fiol e v L ey s

Note : Attempt any THREE questions . £
_gfﬂdiad»TJJflzdifJ A ¢ :;( ’J..Judu IJJ)I/ (h) 5
5. (a) Raheel’s income is 25% more th . ¥ hatjioercent is Rauf’s

income less t@an Rgiheel’s? Ol R
f%yu’wzf?fzf M’;Quld{' o ol uféu{,/ﬁ..{!fl (<)

(b) If 15% discount on MP of a heatefis allowed and : tgg:-/,caéo}aua

still makes a profit of 2%. Ifitis S n M ; ’: b profit percentage?
9,20, 00,000 Fhetindus] S i 1L 1 O0) 6

6. (a) The inherited property amounti
Rs. 20,00,000 is left by a decea widow and two sons.
-~ Workout the share of each.

(b) Usmg logar|th table evaluate : - :2?35’ m""ﬁ‘a/ Jes J:,w‘:(‘{ K ()
: 69.13 x 0.34 x 0.014
o EL LI S LS 2% L2305, /méuwﬁsooooo Lo €92 7
7. (a) Raheel insured his house -»24-10% Z,/V(ofu”viﬁépb"f JJI)U“JLfS
worth Rs.7500000 @ 2% for 5 years. Calculate the amount paid in 5 years
while the rate of deprecxatlon is 10% yearly.

¥ 216-.«/;,}'4(7/)‘ 26,;!;(;/ ifywjlﬁ'Q)/)A’JLu’ Jb.lrl‘d/‘ (u )

(b) Find three consecutive numbers in G.P whose sum is 26 and their
product is 216.
UAE 4.5% Inesf S e s 1,50,000 4t sig,7,00,000 BTSASF 0 (D) 8

8. (a) If the total income of a person is Rs.7,00,000 with W o oSE e
exempted amount of Rs.1,50,000. Find the tax chargeable @ 4.5%
3xC=1{4,6810}sB={3,60912}.A={2,3,4}/1 ()
(b) It A={23,41, AU(BUC)=(4uB)UC JSE =k
B={3,6912}and C={4,6,8 10 },verify that AU (BUC)= (AU B)UC
9. (a) Draw the graph : P = —% —~~§- :é.L'«.JVf (D) 8
IJ'IVJ'UL&"UJILJV:’&L{JJ Ju;/}y: Lu£40 Sdwditnr (L)
(b) Draw a histogram from the table that shows — -&-t:.29 J FesaSurionst
the distribution of average marks of 40 students in the end of year

examination.

Average marks 7 b3l

1-20 | 21-40 | 41-60 | 61-80 | 81-100
2 4 19 12 3

Frequency s&*
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book, Cutting or filling
two or more circles will result in zero mark in that question.
D G B A Questions / « iy R
10 7 % 1-1
70 — 7 - . e P UTov
7 10 Fraction form of 70% is :
2IS5K | el L% Y. : wUf e tePfaib |2
Consequent Antecedent Means Extremes Inaratioa: b “a” is called :
20% 5% 10% 2.5% On a crop produced on natural resources,
Ushr is deducted at a rate of :
. ] AV AC L
5.5% 4.5% 3.5% 2.5% TS Y ATAC S
Zakat is deducted at the rate of :
J»ngjﬁf Sy 45 -1 w%fa,ladtp/ﬁf/f.f.wjﬁm&{ .
Insurance The company undertaking the act of
policy Insurance Insured Insurer insurance is called
g ¥ 2 S Ny A AL
M’ K p i f The amount which is paid by the bank on
ark-up remium Profit Bonus the deposits is called ------ :
OiSS bl A7« u&yﬂ{,dvm;bf.bq},o T2 S | 7
u@f‘ S ly PSS I# e BES: :w;fr-h‘awwmu:f&i’
; Tax The taxes which are charged on income,
SRR i Pgey property and profits in thg form of income tax,
property tax and profits etc. is called :
e s . , 18
P T R R P
: X - The tax charged on all the taxable income
Income tax Direct tax Excise duty Sales tax is called :
w&;ﬁ u&g 2 i In «/3, 3 is called : :uj%f:@ o \/5 9
Natural number Integer Radical Radicand
J/&Guj P "Z/g})"l& Lis ﬁéi; wgf/JK}JZiJOJ 10U 10
Natural . Common Maﬁ ; The logarlthm calculated to the base “10”
number Characteristic | |o4arithm & "ws.called
' t
V2 ~ 142 +242
- 12
445 75 35
.:J/::g.f[{u;:”u uﬁﬁ'(d@&dﬁ pilk e J:ywﬁ‘-‘“"" % 13
Complement | Demorgan’s Associative | Commutative
of two sets law law law
14
-4 -8 4 ] ' . ;
Forx=1 in 2x+y=06, we hd®e y=":
n n 15
LosidL> heslE v H = INZD ~§-Wf bt = ]
7 Lrsf s )
Arithmetic Harmonic M Z("\J Z(“
mean mean e Mode . ¥ X
is called :
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12 2. Write short answers to any SIX (6) questions : 2 T AL oy (6){48/ 2
(1) Express % as -éﬂ;/J;J,/Léﬂg».,{l.,,mndﬂiuyzm?f SFCS % )

percentage and give your answer correct upto 1 places of decimal.
el eae b dSusSiunud 45% 2L LJF ) G

(ii) If 45% of the students in a school are girls, what is the percentage of the boys?

(i) If a:b=2:3, find the ratio 6a:2b et 6a:2b Ix a:b=23 01 (Gid)
(iv) Express ratio %% in its simplest form . -éuﬁf AT %% e (V)

10% =T « &1, 950=4 7 2d B e jed (V)
(v) Find the SP, where CP = Rs.950, profit=10%
w84 =2 F «&—/2400 =:2:/c.«§.ﬁgr)” :,«go,«:'/@u (vi)
(vi) Find the marked price when SP = Rs.2400 , Discount =4%
w12 =ied_s, 2640 ==bspod B ek s (Vid)
(vii) Find CP, when SP= Rs.2640,loss=12%
P oL I 0L O3l L foe 5%% &2,5000L %5 (viiD)

(viil) Waseem invested Rs.5000 at 5%% per annum profit compounded annually. Find the

amount at the end of the year.

e Brat foe 12% & LUrkiges 54000 (i)
(ix) Find the profit on Rs.54000 for one year at 12% per annum. ;
12 3. Werite short answers to any SIX (6) questions : 2l epz 7 L iy (6){4.4}/ 3

(1) Simplify W and give answer in _EJJ&JVa;"*L?./;iZ{/’?}’/ W 6))
exponential form.
(i) Write 5.1x10™° in decimal form. -2’.6 uff.(,(,:/l:"fl:{ilx 107 @D
(iii) Write the value of log 52.13. -’&Wowfd/log 52.13 @iD
(iv) Solve 1285 L pr et Gy
log6 ’ log6

(v) Calculate Zakat on gold amounting -’f&( (}L‘” REAS 3}()4Lr£:4(.d;ul 5,00,000 ()
to Rs. 15,00,000.
o 52 2O KWL N B S o LI 5 L1 I e 2isig 1 4,00,000 Lf (Vi)
(vi) Najeeb left a wealth amounting to Rs.4,00,000. He left behind -2.:( (31"" bl
a widow, while they do not have any child. Find the share of Najeeb’s widow.
S OSER T S K o0 pE16% 0 i1 44000 2K (vid)

(vii) The price of a tricycle is Rs.4000. If 16% sales tax is charged, then calculate the
amount of sales tax.

S PN Lt 1A5000 Fn sSEFiL 400 RPEIFLGTES L1 (viid)

(viii) The gross pay of a person is Rs.45000, then calculate his net take home salary,
after deduction of Rs.400 as income tax.

40 03,50,000 BASE S ihbige Guid s (ix)

(ix) Calculate Ushr on a wheat crop amounting to Rs.3,50,000 produced by artificial resources.

( 2'(}/5 )




D LR-63-2" ,
12 4. Write short answers to any SIX (6) questions : - o =z A L =iy (6)4{::—(31( 4
(i) Write the first three terms of a, =n+3 -Z’;U,(}Juf Hla, =n+3 @

S5 131260~ ———a; (D)

(i) Find the temrindicated fn the sequence 1.3,12,60,~~ -~ a7
g dent ATA={ ~2,1,4} /1 (i

(iil) If+A={-2,1,4} then write two binary relations in A.

(iv) Find mode for data : 8,9,3,6,5,10,8 ki (V)
(V) Represent the point A (2,-4)on the graph paper. -é/;kh/’:%._}l/fA (2,-4) & | v)
(Vi) If °C=2(°F-32) then S SaS S 9TF I °C=%(°F-32) IR

convert 97 °F into degree centigrade °C

(vil) Find mean for data : 3,5,6,8,8,9,10 :’fi:()”b;l{)lf (vi1)
(viii) Find AM. betweenx—1,x+7 -Z.{(:J"‘led‘?uyui x+7¢ x—1 (viiD)

el s T 2, 8,32 - A (%)

(ix) Find the 7" term of a G.P. 2,8, 32 ---—--
( PART —II 222 ) S
Note : Attempt any THREE questions . -zf_-,uzéamruf c_d:( L
4 e S AU F e /K 1100 28 sOulLtes 18 g/ ¥ 63 2614 () .5
5 (a) 14 cows consume 63 kg of hay in 18 days. How many cows will eat 770 kg
of hay in 28 days at same rate? )
4 E s 8 L essp e 12000 S5 s Linirhl (o)
-ép‘*‘ydwuﬁmigf =59 ke 3010,500 < tos et/ S

(b) A shopkeeper gains a profit of 8% by selling a washing machine for
Rs. 12000. If he sells it for Rs.10,500, find his loss percentage.

Gl Ut 2 apkl§Uin i stededies7,50,000 AL () 6

4
e ddiged L
6. (a) Workout the share of each, if the inherited property amounting to Rs.7,50,000
is left by a deceased, who also left a widow, two sons and one daughter.
75 32 S
4 (b) P that : log (—=)+log (=)~ 2log(=)=log2 St ()
rove g(3e) 0g(=;2) og(9) 0g St ¢
4 sl 6% Bleat S n S bCtral-iss 750 S St SEL Lo pilesni250 (D) 7
7. (a) How long would Rs.1250 have to be deposited at 6% per year simple
profit to gain Rs.750 simple profit.
4 (b) Find three A.Ms between 11 and 19 -2 p#bsdofoind 194 11 ()
4 LA 8.5% e Sess 1,50,000 gsiosig 3,700,000 G787 S (D) 8
8 (a) If the total income of a person is Rs.7,00,000 with W b oSS e
exempted amount of Rs.1,50,000. Find the tax chargeable @ 4.5%
AA={7,10,13,14} - U={7,8,9,10,11,12,13, 14301 (L)
4 (AnB)C = A€ UBC SZEewix B={7,8,11,12}
Mb) IfUu={723,910,11,12,13,14 ¥,A={7,10,13,14 } and
B={7,8, 11, 12} then verify that (4" B¢ =4 UB®
4 9. (a) Draw the graph : y=x+7 :é—l‘adlj (h) 9
4 2,3,6,8,11 Lo 3 A A8 ()

(b) Find the standard deviation of the given values 2, 3, 6,8, 11
178-021-11-(Essay Type)-72000




